
 

【英語（解答）】 

１ 問 1 イ  問 2 イ  問 3 ウ  問 4 ア 
 問 5 エ  問 6 イ  問 7 イ  問 8 ウ 
 問 9 イ  問 10 1. T  2. F  3. T  4. T  5. F 

２  1. ウ 2. ア 3. ア 4. エ 5. イ  
 6. イ 7. ウ 8. エ 9. ア（イも成り立つのでは？） 10. ウ 

３  1. イ 2. ア 3. ウ 4. エ 5. ア 
 6. エ 7. イ 8. ア 9. イ 10. ウ 

４  1. ア 2. イ 3. ウ 4. イ  
 5. イ 6. ウ 7. ア 8. エ  9. ア 

５  問 1 ア  問 2 ウ  問 3 エ  問 4 イ 
６  ⑴ ア  ⑵ イ  ⑶ ウ  ⑷ エ 
７   ⑴ 習慣的ないびきは、喉と舌の筋肉が弛緩しすぎてしまい、そのために喉と舌の筋肉が気道（気管）に落ち込 
    んだ時に最もよく起こる。 

      ⑵ もしひっきりなしにいびきをかき続ける人ならば、自身の睡眠の質を損なうだけでなく、近くで寝ている人 
   の睡眠パターンを乱すかもしれない。 

８   ⑴ When their dogs get injured or become sick, they make every effort to find a way to save their dogs. 
  【別解】 If their dogs are injured or taken ill, they look for as much treatment as possible to save their dogs. 

 ⑵ As a result, the dog owners have no choice but to pay a huge amount of money for medical treatment,  
 which can put a financial burden on them. 
 【別解】 Therefore, the treatment of their dogs often impose a financial burden on them and then force them  
 to pay high cost for the medical care. 
 

【英語（講評）】 

昨年同様の形式、量、難易度であった。長文は多少読みにくいが、基本的な問題が多いが、英作文は表現に多少工夫が必

要だ。記述部分での減点を極力少なくしたい。85％前後の得点が望まれる。 
 
 


